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1	Introduction
RAN4#84bis agreed with the way forward on the test setup and metric for the PMI/RPI reporting test for eFD-MIMO advanced CSI codebook [1] as follows:
· Test metric:
· Throughput ratio between the followed Advanced PMI/RPI and followed Advanced PMI with fixed RPI=0.
· Test point :70%
· MIMO correlation matrix:
· Medium spatial correlation
· MCS and Rank:
· 16QAM 1/2 Rank2
· HARQ: 
· Option 1: 4
· Option 2: 1
· Companies are encouraged to bring results through RAN4 email reflector for above two options to fix test set-up before next RAN4 meeting, and finalize corresponding requirements in RAN4#85 meeting.
The remaining issue on the PMI/RPI test for advanced CSI is the HARQ retransmission. This contribution provides the simulation results and discuss the remaining issue.
2	Simulation results
[bookmark: _Ref352176984]2.1	FDD
Figure 1 compares the throughput between 4 transmissions setup and 1 retransmission setup with FDD. For each setup, we show the results with the following PMI/RPI and the following PMI with RPI=0. Figure 2 compares the throughput gain between the following PMI/RPI and following PMI with RPI=0 for each setup. 
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[bookmark: _Ref498603952]Figure 1	Throughput of Follow PMI/RPI and Follow PMI with RPI=0 for 4 transmissions and 1 transmission. 
[image: ]
[bookmark: _Ref498603954]Figure 2	Throughput gain of Follow PMI/RPI over Follow PMI with RPI=0 for 4 transmissions and 1 transmission.

It is observed from the simulation result that the throughput gain for 1 transmission setup is much larger than 4 transmissions setup. For example, if we focus on the SNR test point with 70% of the maximum throughput with following PMI/RPI, the expected throughput gain with 4 transmissions setup is about 1.3 but 1 transmission setup is about 3.0. 
Regarding the setup options, we prefer to use the legacy setup, i.e., 4 transmissions. We think the purpose of this test is to verify that UE reports the advanced CSI PMI/RPI. Considering this purpose, we don’t think it is not necessarily to show very high throughput gain by changing the HARQ transmission setup RAN4 used so far. If we look other CSI reporting tests, there are some test case the required gain is 1.05 or less. From our simulation results, the expected throughput gain is 1.1 or higher. We think this value is sufficient to verify the advanced CSI PMI/RPI reporting.  
Proposal: RAN4 set the HARQ transmission setup to 4. 
2.2	TDD 
Figure 3 compares the throughput between 4 transmissions setup and 1 transmission setup with TDD. For each setup, we show the results with the following PMI/RPI and the following PMI with RPI=0. Figure 4 compares the throughput gain between the following PMI/RPI and following PMI with RPI=0 for each setup.
Considering the test point with 70% of the maximum throughput with following PMI/RPI, the expected throughput gain is about 1.3.
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[bookmark: _Ref498606819]Figure 3	Throughput of Follow PMI/RPI and Follow PMI with RPI=0 for 4 retransmissions and 1 transmission.
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[bookmark: _Ref498606821]Figure 4	Throughput gain of Follow PMI/RPI over Follow PMI with RPI=0 for for 4 retransmissions and 1 transmission.
3	Conclusion
Proposal: RAN4 set the HARQ transmission setup to 4. 
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